SR

—_— 1 = 2x2 -
M;;{; 5 If;:lrdyt = 2x ;‘ 12x — 1, find the vertex.
i NS quadratic equation with :
o through point (1,12). thertex (34) anc
¥ Al 4:&,. 3 | At most how many turning points does 1 polynomial of ] ]
§g«&d\ ms degree 7.have? At most how many zeros does a =
. P . prlynomaal of degree 7 have?
¥ Zmdlthg x — int,y — int, end — behavior,and doa %
na yS!Sforf(x)=x2(x2-—9) X-iwt ! 0)3)-'15 and ot § [ ¥ 740
 — Graph . Y-t 7 0 Xyme "%f”m
l : : —_
w o :i Find the L % ke Fgg ok
Reviow “w‘ _ grephand *
oy #3 analysis for f(x) = 2:—*33.
6 | Find any horizontal and vertical asymr)mtes for f(x) =
-s‘ -

3x%-5x+6 . )
it (The horizontal asymptote is found the same
way we find the end-behavior.)

Find the quotient and remainder when f(x) = x*

3x2 + 1 is divided by x + 2. x*- 2%%+ x-& K_“’_:l
What is the domain and range of &L 2x 2 Sketch the ( g !

—O-<n 400 é ﬂ)O

graph. Y
What is the domain and range of y = In x? Sketchthe E
J (1,9

graph. LEA) -o-<3<o~

10

Sketch the graph of y = log,(x +1) + 3.

11

Sketch the graph of y = 2%+l _ 1, Fincxandy

12

intercepts.
1\ ¥3

13

' "‘:-1- X = 9:% ﬁ -
Ssolveforx: 2° = 7 2 s

14

Solve for x: 32*1 =1 axxlz0 [XK=-a]
sy - % T Ty=.0
xxz= k-4 x=q /

N/

Solve for x: 231 = 4552 ._
7 =4 » 35 =2

15

16
17

Suppoggglwo is investe

is $2000 in the account. FindT. =
Ww&@%ﬂ%

"MM .
.+ ic the inverse 0

Solve forx: 5-3* = 45
An amount of $500 is invested at 5% compounded
continuously for 10 years. What is the in ~

at the end of the 10 year - 500 #ﬂg(’

period? [t~ A

d for 10 years at a rate of r

At the end of 10 years there
1 (19)

compounded continuously.
Iooo= 1000_&

Pt S

What is the inverse 01 = 5% ? E

f=e"? = [n o

-




22

Write the exponential e ) -
xpression as a1 eq
expression: A [{s,3-3) ») tog, 3 *-2) @W‘)EQ "“ﬂ

A)2'=8 B)32=1 ()4/2=C _1_1_0_"‘2 = .01 |
23 [ log, V32 = 4, 22 =% —
24 | Inet = :ﬂ \ = ]
2 | Inve= |£ '_——_____
i ——
0810 1000 = m e (R
28 . a’p? jbena 4 3hnb— s*(vi—_ﬂj
Expand using log properties: In——7 *-=
4= — = -34nF =
29 ET L [stex 430y T3
flnx=a,Iny=>b,Inz=¢, find In- —3;1:__ SO 4 LE;’?@T— -
30 N e
Expand using log properties: In =7 +1u:5 —— —).‘L:{i@%x” J 47
31 | Write as a single logarithm: 5log(3x - 2) - QJ +
T Dt 7lop3x2 +5) = o ZEREST
32| Find the ex | fln—fei = akoe e S|
ind the exact vaiue 0 - Q—E 2 _
33 | Solve for x: log,(2x+1) =3 g=2xx1___ R==Z J
34 [ Solve forx: log,(2x + 1)° =12 3%eq,ex+D =12 = {ogs ‘”‘“V )
35 |Solveforx: 25 =5 elnz =fas % = [2nS/dn2)
36 | Solve forx: (3)2* =5 3 + ln2 = zlas 2= ST ]
37 | solve for x: 3**! = 5% jﬁ&@gﬁ =
38 | Solve forx: 2* = gx+1 A '—E%mg
39 [ Solve forx: (3)2° = 7°*% |0 qnq|
40 | Solve for x: logs(x +3) — Iogg(x-— D=1 _lx:z
41| solve for x: log,(x +5)% =
A7 Waees-af-the-ekase—g*—*yz ﬁ%
43 nnd-thre-f-ea-e&-the-h-y-pefbeb——-—-; —==1: 0 w‘%,ﬁ w,gi‘
44 | Find all zeros and their multiplicities: f(x) X = 7"9‘/1-”’
7x* + 10x3 160y = x2( Y% T 410) =¥ (x~s%< -2)
45 | f(x) = —2x+1,g(x)=x*+
A) Find (g-f)(—2) = %(@ @
8) Find (f = 9)(3) = S -3+ = 1]
46 | Find logq 7 (use calculator) .
AT | solve: -+-5> 2
8| 0 =20 = o | B
49 | Graph: y = —2" +5 P
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